0907432 Computer Design (Fall 2007)

Quiz 1C
الاسم:




رقم التسجيل:
 

رقم الشعبة:

===========================================================================

Instructions: Time 12 minutes. Closed books and notes. No calculators. Please answer all problems in the space provided. No questions are allowed.

<Good Luck>
Q. How do you take advantage of parallelism on the system level?

____Replicate components such as processors, disks, and memory modules. _

Q. Given the following specifications,
	
	
Processor

	Memory
	Disk

	Type
	Pentium 4
	DDR-SDRAM
	7200 rpm

	Count
	3
	8
	3

	FIT (per unit)
	5000
	5000
	15000


   what is the system availability if any fault takes one day to repair?


System FIT = 3 * 5000  +  8 * 5000  +  3 * 15000 = 100,000

MTTF = 1000,000,000 / 100,000 = 10,000 hours


Availability = 10,000 / ( 10,000 + 24 )
Q. What is the main advantage of using a 3-operand ISA over 2-operand ISA?

____Gives more flexibility to the programmer/comiler.__________________

Q. Using pipeline diagrams, find how many cycles are needed to execute the following code sequence. Assume that split cycle register file is used, stalls are used to solve data hazards, branch instructions are resolved in the Execute stage, branch target address is found in the Decode stage, and predict taken scheme is used.
                                           1 0 0
                         1 2 3 4 5 6 7 8 9 0 1 2

lw 
r1, 0(r2)       F D E M W

sw
r1, 0(r3)         F D - - E M W

bne
r1, r1, skip        F - - D E M W

addi
r3, r3, 1                 F n F D E M W         n: converted to null
skip:



Target instruction                F n n n n
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